H & 0l & AHS B Ml A

0243 =0lat 22200 SE3H X

A FRISXID
M HASE MEBOIE K@
9l SIZZ0IAI (2201012 SE3|H) (o) &)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
0= Xt 973,901 973,885 16
= 113,078
T 28,269
= 832,554
HASES MY X 962,901 962,885 16
= 113,078
= 28,269
= 821,554
AZZME(LZ2S30HII2 SE3H) 962,901 962,885 16
= 113,078
& 28,269
= 821,554
ZZHAXHMBEA B (A 2HHHI) 11,627 11,627 0
= 9,302
T 2,325
201 LBt AH| 8,000 8,000 0
= 6,400
& 1,600
01 AtR2telt] 8,000 8,000 0
Oflz=0 #FH| 8,000,000& 8,000
= 6,400
= 1,600
202 O4H| 3,627 3,627 0
= 2,902
& 725
01 =2LHO4 ] 3,627 3,627 0
Oz s=oAI=2e] S SXIgel
2,500,000& 2,500
= 2,000
& 500
OZ2 HIIUJAEK NE L AGHROI KA
1,127,000& 1,127
= 902
& 225
ZZHAXHMBAEER(AZAZSHASHIEE) 129,720 129,720 0
= 103,776
T 25,944
307 212+01 A 129,720 129,720 0
= 103,776
= 25,944
01 22 & 35| 129,720 129,720 0
Ooz=0 #3208l s X
129,720,000& 129,720
= 103,776




FA S
B HASE MBOIH K@
CHel: o2 20IAI (21220012 SEsH)
RA - I BRA(E) - HRA - BES of vy A
| = 25,944
SIZSHIXHMEAE (2220 TEHl XH) 818,954 818,938
308 AHXIHMSO0IA 818,954 818,938
07 XA FEE2 818,954 818,938
O22=0 &lzHl 2Hl R
818,954,000 818,954
IE20rs At 2l XJ 2,600 2,600
201 er23| 2,600 2,600
01 At22te|bl 2,600 2,600
O=gtl 2,240,000 2,240
OgtH(&ddh) 282 360,000 360
HRas(=e=X) 11,000 11,000 0
SHEIE(S=SS0II= SL3IH) 11,000 11,000 0
BrIpE= 11,000 11,000 0
802 Btet= DI Et 11,000 11,000 0
03 JIEtetets S 11,000 11,000 0
OO0l Xt==g) BHef 1,000,000 1,000

10,000,000 10,000




